EARAROBREBRT —5 XN—ZXBISH—F

201118218 (B) 108154068

9 DR

AB YSR—Aix

\(9&1&1 n ‘I%EH?’JFQ] | & 100 =

[AE%] 17 :1,400,000 § ~ 237&:490,000 @ . 37&:280,000F  435:210,000 @ . 5 & :140,000 M

B RS RS M MHE BF (F8) |94L (BF) | @Bl | E3F |SiEH | AR | #E | A6 (R / B / £EWS
Bl ik 132, -2-2- 0| - PEEt (5
118l Py z—o # o4 | B 1(3_2)1 1-2-2-1 | 41.0 1 (4_93 PEEn ®
R:O—RAFO7 H:5KN HRat /AL
~ BAHER 2 -4-5- - TRER ()
N 2NN %5 | B% 1.(322).5 4-4-5-5 [ 41.0 7 (4_5;3) Ll £
RiVZRAI—ZZRI— B:RAANNS—X 757 N5
o [EAY £ 3m : -7-6- - MEIES (8%
N - BEZEIE Vv # o9 | @ 1.(312).7 7-7-6-4 | 40.8 2 (5;292) M (&50)
RRAFINST B:I(Z—FSRY bk RS
S/ -~ PEIEES 2 -1-1- - HAAKRE (B50)
alglg|TAvvE—571 # o5 | WER 1.(323).1 2-1-1-2 | 42.1 8 (4_93 R
RivavFvhryy BI—vr53—Iv— RERIS
ST=—7—Y— o4 | MERE 1:33.4 3-3-3-3 (4.0 - | 6 | 456 |EBPT (BHD)
5lql1|37=—7—v 550 G o |dwEs
REVFOVY 82282509 BRI
== RIRFETR 2 -8-8- - AIFED) (F30)
6l5ls|Fr502—0 % 6 | BUE 1.(313).6 8-8-8-8 [ 41.2 5 (4_338) i g
R/ITURS B TIVIEFY =9V I 7—1
< 2y SR : -5-4- - BB (=50
7178 | TRTATVI I 5T - R IR R ’ ?517) Ehas
KRIIZRT—VIF— BIAFIY v b— vYITHiS
L% 2 -6-7- - FAAN (FHD)
s B2 IREFEL # o8 | LG 1(.13;42.)1 6-6-7-6 | 42.3 9 (5+216) e
R:FPIRATIIN B:RARFPE—L JRET2—T7—L
LA REITE : -9-9- - BR? (&)
ol7|7| FLaa—N o7 | RER 1.(33:3.5 9-9-9-9 | 42.2 4 (5+121) T
RIAWARYSA bF Biy—TIFU— IV VIERYE
P 6 | FELBEX 1:34.9  [10-10-10-10| 41.8| — | 10 | 533 |BIE— (&)
10 3| AREOTOA 55.0 (1/2) “7) EPM%}REBH
R:€r/0704 8:94JKUTILAE B2 XE
@ 11— —@BIE(I
13—7— |10,9,1,4,8,2,6,5.7,3
23—73— |9.10,1,4.8,2,6,5.7.3
30—7F— |9.10,1,8,4,6,2,5,7.,3
41—7F— |10,9,1,6,4,2,8,5,7,3
@ ILRE
& s 10 180 | | DA B 4-10 1,230 | | # &= 4-8 4,500M9 | | =2 4-6-10 3,350/
& B 10 130M9 6-10 200 | | BB & 4-10 4,260/ | | 3= 10-4-6 21,050/
4 710M 4-6 1,810 | | & & 10-4 5,310M
6 140/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




